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SN gsERA
DA BHAQUS OYIIE HB(SYHYLA/HLLL - OfF)
9l A DIBIAIA BB (S5 &8 2)
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K %Egﬁ Hws2
= 9,467,177
A OIPAIE BHE 9,705,088 18,178,403 8,473,315
= 865,000
= 5,500,000
= 3,340,088
YR Aa(2D) 1,500,000 0 1,500,000
= 1,200,000
= 300,000
401 AlEHIL =0 1,500,000 0 1,500,000
= 1,200,000
= 300,000
01 Al&H] 1,496,245 0 1,496,245
OXZo{ AL 1,496,245
2 1,196,996
< 299,249
03 Al&=H| 3,755 0 3,755
ONLUHBAMAY =& 3,755
2 3,004
= 751
ot s (21) 1,600,000 0 1,600,000
= 1,280,000
= 320,000
401 ASHLLHY 1,600,000 0 1,600,000
2 1,280,000
= 320,000
L 1,596,006 0 1,596,006
OXZ0{ 8L 1,596,006
2 1,276,805
= 319,201
03 A& 3,994 0 3,994
OXNLOBAMAY =& 3,994
2 3,195
= 799
Sig A4(21) 1,500,000 0 1,500,000
2 1,200,000




SN BHEWERA
DA BHAQUS OYIIE HB(SYHYLA/HLLL - OfF)
ol M JBHAlS BHE (649 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
Satg A& (22) < 300,000
401 ASHI L2 1,500,000 0 1,500,000
= 1,200,000
= 300,000
01 AZH] 1,496,245 0 1,496,245
Y EN RS 1,496,245
2 1,196,996
= 299,249
03 Al&=0H| 3,755 0 3,755
ONLHBAMAY =& 3,755
2 3,004
& 751
SoHelg A (21) 1,025,000 5,000,000 3,975,000
= 820,000
= 205,000
401 ASHILLHY 1,025,000 5,000,000 £3,975,000
= 820,000
= 205,000
01 AZH] 1,022,441 4,986,500 3,964,059
CHET RS 1,002,441
2 817,953
= 204,488
03 Al&SOHI 2,559 3,500 £10,941
OO ALY =7 2,559
2 2,047
= 512
HENE=ET2 X4 (21) 1,300,000 1,300,480 480
= 1,000,000
= 300,000
403 RXSHHSKHZO0IH 1,300,000 1,300,000 0
= 1,000,000
= 300,000
0 RXSAKELE 1,300,000 1,300,000 0
O E0 S =B Z2AEL(1HA) 1,300,000
2 1,000,000




SN BEHE A
HE: YWAYS 0QI|B HB(SHHY A/ HY AL - OF)
Sl MAH JIBHAIAE BE (S5 &8 2)
_ _ MNuE o
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
= 300,000
O REZEIBSH XA (22) 1,038,000 682,000 356,000
2 865,000
= 173,000
403 RXSHSKZ0IH 1,038,000 682,000 356,000
2 865,000
= 173,000
01 RXSHK=LE 1,038,000 682,000 356,000
OXB2INY SLBSH X2 1,038,000
2 865,000
= 173,000
Ngolg SN2 1,500,000 800,000 700,000
201 LPr2y| 1,800 1,800 0
01 AFRarelt] 1,800 1,800 0
I ENEIEET L 1,800
401 AlEHIL 2O 1,498,200 798,200 700,000
01 AlZH] 1,491,720 793, 160 698,560
OXYoNE 24 BL(6ME) 1,191,720
OXYOIE FH AFAL &3 300,000
03 Al&=CH] 6,480 5,040 1,440
OXNYNE 24 PY =X 6,480
HEFFOIE MY 60,000 1,160,000 ~1,100,000
403 RXISHSKZOIR 60,000 1,160,000 ~1,100,000
01 XXM =R E 60,000 1,160,000 21,100,000
OEANSOE =& 60,000
MO Mt SO 176,088 223,734 ~47,646
202 oft 11,088 13,734 A2,646
01 =LHolb 11,088 13,734 A2,646
OHIHOY Mary E0f 1,088
403 THXISHSKHZO0IF 165,000 210,000 45,000
01 XXISHHIERE 165,000 210,000 45,000
CEPNEIESIIL= 106,500
O™ BYHA 58,500




SN BESHERA

HE: YWAYS 0QI|B HB(SHHY A/ HY AL - OF)

SHol: M4 JIBIAIE BB (S5 &)
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 giﬁgfﬁ HRs2
LA AR FE 6,000 5,939 61

201 BH2EH] 6,000 5,939 61

01 AtS2cldl 6,000 5,939 61
OFMAMYS =X U A5 2 6,000
osIes +¢ 2,940
OfMAHAR =T 3,060

J2eEdg |4 15,624,352 17,230,920 A 1,606,568
= 6,069,380
s 4,970,000
= 4,584,972

AT HIOSEE(2D) 1,000,000 1,000,000 0
= 1,000,000

403 TXEMSA201H 1,000,000 1,000,000 0
= 1,000,000

01 XXSHHIH2EX 1,000,000 1,000,000 0
OLT2 HICH=Z3H2HA) 1,000,000
2 1,000,000

HAMESEE AN LHALE A (22) 8,000,000 7,000,000 1,000,000
2 5,000,000
= 3,000,000

401 A& HIL 2O 29,900 7,000,000 26,970,100
= 11,500
= 18,400

03 AlZ=0idl 29,900 17,500 12,400
ONLNBLEE LUTATLAL 2T 29,900
= 11,500
= 18,400

403 TXEMSA201H 7,970,100 0 7,970,100
2 4,988,500
< 2,981,600

02 ZBJ/2SOCHETHAAS B 7,970,100 0 7,970,100
ONSUELHE LUTATLAL 2 7,970,100
= 4,988,500
< 2,981,600




SN BESHERA
BB AWHQUS QIIY HB(SPHSSA/HYL - O E)

ool Jl2soY 854 R (el ®g)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
GOt & HMHZE 22 619, 158 1,044,920 N425,762

202 Ol 4,158 4,920 NT62
01 =2ZWoib] 4,158 4,920 NT62
OlH ZSIHI L AAAIH =& 4,158
403 XXM SK201H 615,000 1,040,000 A425,000
01 XAXEXMASEX 615,000 1,040,000 425,000
OdlZ==x4d ABIH &% 60,000
OSA=SHI eI A 75,000
OZHHEHIHE NHAXTH 100,000
O& MR SEUHAAIE =4 200,000
OA28UOsH ASHEZAIA 180,000
AEA o232 XN (=21D) 90, 194 0 90, 194
= 69,380
& 20,814
403 XXISHHSA20|H 90, 194 0 90, 194
=2 69,380
= 20,814
01 XAXESHMAESEE 90, 194 0 90, 194
OrEH HREZ N (DL 2E23) 90, 194
= 69,380
T 20,814
QIZZ=AIE (2D) 4,235,000 4,360,000 A 125,000
g 3,500,000
== 735,000
401 Al&EHILL204H] 3,348,000 3,465,000 A 117,000
g 2,678,400
= 669,600
01 Al&H] 3,334,500 3,450,600 A 116,100
OUZHEAIL 2,974,200
iy 2,379,360
< 594,840
OH=&E 2 - 82 360,300
rag 288,240
< 72,060




SN BESHERA
BB AWHQUS QIIY HB(SPHSSA/HYL - O E)

Col: )20 84 (ol |8l
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

03 A& =0 13,500 14,400 A 900
OIZBUHEAIZAIYE =& 10,800
[ 8,640
< 2,160
OU=NE E - EZAY =& 2,700
[ 2,160
< 540

403 XXM SX20IH 887,000 895,000 /8,000
s 821,600
= 65,400

01 XXIESHI=2EX 860,000 860,000 0
Otttz 4 860,000
s 800,000
= 60,000

02 BJ/2SOCHSHHEAS H 27,000 35,000 A8,000
CZBUH=EAIE HX XA 15,000
[ 12,000
[ 3,000
OH=E 2= - 22 &Hitg 12,000
P 9,600
< 2,400

SMBRHYES A (Z1) 1,680,000 1,800,000 A 120,000
s 1,470,000
= 210,000

403 XXIEHSA201H 1,680,000 1,800,000 A 120,000
s 1,470,000
< 210,000

01 XXIESHI=2EX 1,580,000 1,700,000 A 120,000
O=&SHII YR 1,580,000
s 1,400,000
= 180,000

02 ZII2SOICHSHOH & A HI 100,000 100,000 0
O=MSEHIMMYLFE SUIA 100,000
[ 70,000
= 30,000




SN BESHERA
BB AW QDY HB(SPHSSA/HYL - O E)

Sl LfSB KR EA (29l &8)
RA B SA(BH) - NRAY - B 01 e HRE2
40t TRl A 768,769 879,960 A111,191

=2 220,000
224,968
= 323,801
H+SOIBAMRE X8 (21) 236,500 215,000 21,500
2 220,000
= 16,500
403 TIXISHSKH=O0IE 236,500 215,000 21,500
=2 220,000
= 16,500
01 XtISHH =R E 236,500 215,000 21,500
OB AT IAIL 236,500
2 220,000
= 16,500
101X 01 R 210,000 210,000 0
= 191,857
= 18, 143
403 THXISHSKH20IF 210,000 210,000 0
= 191,857
= 18, 143
01 KXSHAZ2E 210,000 210,000 0
OLOTINLR 210,000
= 191,857
= 18, 143
e £S0|18F 25 289, 158 454,960 165,802
202 01| 4,158 4,960 A802
01 =LHoit] 4,158 4,960 802
OLH4Bt £SJ|8H REAY =W 4,158
308 XXEHSOIH 30,000 30,000 0
01 KNXSHILZES 30,000 30,000 0
OLAHOIS Hi~ +0f 30,000
403 THXISHSKH20IE 255,000 420,000 165,000
01 KXSHAS2E 255,000 420,000 165,000
O=sA+N TSN 30,000




SN BESHERA
BB AW QDY HB(SPHSSA/HYL - O E)

el (oo GRES T T (29 @2)
SA - EY . O(SH) - NRAY - BES 01l a0 b HDZ2
ERCELEEEEEEE 18,000
OOi2 - O P DAMEI| X BBAIL 7,000
OHENE X0YT 200,000
Ol RSl EAl 33,111 0 33,111
= 33,111
403 N XISHHSKH201N 33,111 0 33,111
= 33,111
0l NASANEDE 33,111 0 33111
CEEEERE I 33,111
= 33,111
SeAd =4 & 42 JXIA D 3,818,316 4,210,120 A391,804
s 2,600,000
& 1,218,316
SN2 REALY(2T) 490,000 165,000 325,000
s 400,000
< 90,000
403 XXISHMS K201 490,000 165,000 325,000
s 400,000
& 90,000
0l NAEANEDE 450,000 165,000 325,000
O+8E ABE AK 490,000
2 400,000
& 90,000
M2 IS . RSIUAE & HZ2IH 498,316 499,120 A 804
202 Oidl 8,316 10,120 A 1,804
01 =WaHl 8,316 10,120 AN 1,804
O+t T - REIBAL 2L B2 8,316
307 glz2told 21,000 51,000 A 30,000
02 QUAFAEX 21,000 51,000 A 30,000
Oans U2l AZHE 2 LSS A 21,000
308 XXIEHMSOIA 30,000 0 30,000
0l AANSHZNEES 30,000 0 30,000
O+8E 452N SRUE N 30,000




A EHSHEE A

M AMAQUE 01YI|E AB(SHMLSA/HL 4 - O E)
Cel: REAL ZH Y 242 JIXIRD (Erel: & @
- _ _ HEE
SN HA(S) - HRAY - BES Off &k o 0l At o HR=2
403 RIXISHIS X201 439,000 438,000 1,000
01 XXESHA2EX 439,000 438,000 1,000
O=HAE & H7E=E cl22d 200,000
OEONE ATEH WAL 39,000
OW+o HSHED X 200,000
SMSIIBHYSL(2D) 2,830,000 1,246,000 1,584,000
s 2,200,000
= 630,000
403 AXIEHSAH201H 2,830,000 1,246,000 1,584,000
s 2,200,000
= 630,000
01 XXESHR=EEE 2,830,000 1,246,000 1,584,000
O=x=&= MXIISBAE 1,560,000
= 1,200,000
= 360,000
O=&ESHeldEFAIL 620,000
= 500,000
= 120,000
OXNZEIE X4 650,000
[ 500,000
< 150,000
Aol Mitets X2 (s dsb/aHepd - HE) 2,575,836 2,127,773 448,063
= 25,000
s 100,000
= 2,450,836
ogdaas X& 1,528,120 1,282,480 245,640
olgel 2Tt ALY XI& 1,182,000 933,360 248,640
202 Oddl 4,000 13,360 29,360
01 =2UWnbl 4,000 13,360 9,360
O0{Yol PIMOLHAIATIY F 4,000
307 220l A 20,000 20,000 0
01 == 20,000 20,000 0
OF4+EY XX 20,000
308 XXISHSOIA 1,158,000 800,000 358,000




SN BESHEHA
HE: OO0l MAMBE N (SPHYSL/HS 24 - 0HE)
el OfIMAES X8 (S5l &2)
SN FHH S (3H) - HREAY - BES Ofl &+ 04 giﬂgfﬁ HRs2
01 KASHHBLZES 1,158,000 800,000 358,000
ONABUIAIR QIAXHE X2 1,050,000
O0Iol AOKID OlXHEH 108,000
el Slist Y HAIHY 845t 346,120 349,120 A 3,000
202 O4Hl 6,120 9,120 A 3,000
01 3LAbI 6,120 9,120 23,000
OEFHISMNS L HANS RS =7 4,000
O0ERE HATY X 2,120
403 XSS K01 340,000 340,000 0
01 XXX A2EE 340,000 340,000 0
OLZ &I A 100,000
ORUAAII| AILT & 80,000
Odl=H2AD| XX 80,000
OO MEEHEY B2 80,000
AXA Hgel s4 140,076 128,736 11,340
= 25,000
= 115,076
HDLMPSATNBE SRF(2D) 78,240 75,800 2,440
= 25,000
& 53,240
202 O4dl 240 800 A560
01 3L 240 800 A560
OFDAMAANUE 2SS 240
403 XXIEMS K201 78,000 75,000 3,000
= 25,000
= 53,000
02 ZSJI2SOICHECHE At I 78,000 75,000 3,000
Oz D=t BHTUE X 75,000
= 25,000
& 50,000
OF DB NE IR 3,000
L=t ZRNES XA 20,736 12,936 7,800
202 Oddl 1,200 0 1,200




A EHSHEE A

I 00l MAEE NA(SHHS /LS - 0fF)
CHel XA ojgel R4 (cHel @)
- _ _ ME
SN HABA) - MRAMY - BES Off & o 0Ol At o8 Hm=2
01 =L§ottl 1,200 0 1,200
OWLLMTEN 2SN A 1,200
308 XAIESMSOIE 19,536 12,936 6,600
01 NXSHMBSdEXS 19,536 12,936 6,600
OWLLMTEN 2SN & 19,536
sotdFdel detel XY 41,100 40,000 1,100
202 O 1,100 0 1,100
01 2UWaHI 1,100 0 1,100
O#iAHL T ALY FX 1,100
307 elold 40,000 40,000 0
02 QIZtFHEx 40,000 40,000 0
OxarAAAOl B K& 40,000
HRAOE JHE X HYAUFEE AMEFA 184,490 150,560 33,930
MHSII0E SAAOtHE 2013l K& =a 97,190 110,560 13,370
202 O 7,190 560 6,630
01 =L§ottl 7,190 560 6,630
ORIAIONOIE oiXI& 500
onRYEH = 6,690
307 elztold 90,000 110,000 20,000
02 Ql2tHAMEX 90,000 110,000 /20,000
O SII01E 2IAI0F 201l K& 90,000
=0l M= A X 2HHIXE 40,800 40,000 800
202 O 800 0 800
01 =UW0oiHl 800 0 800
OU=oIMBSA HY Y SHEY 800
308 AXIHMSOIA 40,000 40,000 0
01 AUXHHMBAE2XES 40,000 40,000 0
OYZoIMBEA 2 N (2DHA) 40,000
B SArAIOILE JHE 46,500 0 48,500
201 er2dy| 20,000 0 20,000
03 &A= 20,000 0 20,000
OM 103 St 44t OILE A 20,000




SN BESHEHA
HE: 020l MMHE X (S
o

Sl GHOIOlE JHE L HANEE

&= (S & )
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
202 O44| 1,500 0 1,500
01 =2WAbI 1,500 0 1,500
OstL£=ALAIDILE JHEl =& 1,500
301 Let8gAa3a 25,000 0 25,000
08 2QBlx=&0| 20,000 0 20,000
OHM108 st =AbHIDILE JH 20,000
10 AL HIBAZ 5,000 0 5,000
OHM108 st a4AbAHIDILE JHZ 5,000
MoHoe & N|ES HEEA HE 714,150 539,997 174,153
g 100,000
= 614,150
ASEHAQAIIEX(Z2D) 131,500 131,080 420
g 100,000
= 31,500
202 O4H| 1,500 1,080 420
01 =2WAbI 1,500 1,080 420
OAENHHE QA AIRFX 1,500
403 XXM SKH201H 130,000 130,000 0
rag 100,000
== 30,000
01 XAXEXMASEX 130,000 130,000 0
OAEHHA2AD] &X 130,000
s 100,000
= 30,000
THoH o &+ K| & 182, 150 0 182, 150
202 O4H| 2,150 0 2,150
01 =2UWdHI 2,150 0 2,150
OTHBHOIE RIKAIY =& 2,150
308 XXIEHXMSOIA 180,000 0 180,000
01 AXNSHHIABETZ 180,000 0 180,000
ONN&R MalEN 282 X 180,000
HE XS 222 =8 394,500 402,617 A8,117
201 LErEIH| 207,500 212,981 A5,481




H

410,217

_ HE T
M-l (3IH) - M= Arel e HlE2
01 Atf2teld 8,700 8,700 0
ol =4l 6,900
O&+ & MEH 1,800
02 23294l 198,800 204,281 A5,481
oOHgXNEd 29 198,800
202 OdHl 34,500 39,636 N5,136
01 =LAl 34,500 39,636 Ab5,136
ONHYXNEH =50 34,500
401 AIEHIZSOYI 150,000 150,000 0
01 AlI&HI 150,000 150,000 0
OHYRXNEH HIl=x2l 150,000
405 XHAHE S| 2,500 0 2,500
01 AH=SSFHSHI 2,500 0 2,500
ONHUXNEH AR 2HE2F 2,500
OSHE(30H) 1,500
OHMIEDI(1TH) 1,000
HEaEAMedE =8 6,000 6,300 A 300
202 OdHl 6,000 6,300 A 300
01 SLHAHHI 6,000 6,300 A 300
O8N PH= 6,000
HHORR == K& 9,000 26,000 A 17,000
ool M & AEE 22 9,000 7,800 1,200
202 Oddl 3,000 1,800 1,200
01 =LAl 3,000 1,800 1,200
OoHHIXH & LM =& 3,000
307 glz2told 6,000 6,000 0
02 PItAa=EX 6,000 6,000 0
Oditoigel ?dM & /ALE 6,000
ocotzte] o LSS (BHES/HH 4,640,217 6,092,830 A 1,452,613
s 3,930,000
300,000




2N SSsHEEA
Mz oottt & ofYEEINM (St EES /oY)
Ol WEEE SHO Y- BE (S5l &2)
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
EAN SO Y - B 3,688,717 3,601,700 87,017
g 3,500,000
= 188,717
HOotAEH|(=21) 3,500,000 3,354,460 145,540
g 3,500,000
403 XXISHHSA20|H 3,500,000 3,350,000 150,000
g 3,500,000
01 XXSHA=2EX 3,500,000 3,350,000 150,000
OMHOHAEH| AN (400 2) 3,500,000
g 3,500,000
HOHE AKX Y 22 XA Y 2,717 102,160 N99,443
202 O4H| 2,717 2,160 B557
01 =2WAbI 2,717 2,160 557
OdlictaA SXEH L ZLIHE 2,717
SEEX ool A 186,000 145,080 40,920
403 XXM SA201H 186,000 144,000 42,000
01 XAXESXMASEX 186,000 144,000 42,000
O &R S0l JH| 186,000
ClOFMENH 22X & HASAEES 951,500 2,491,130 A 1,539,630
g 430,000
J| 300,000
= 221,500
AMY ol (=1) 300,000 280,693 19,307
s 300,000
403 ANXSHHSAE0H 300,000 280,000 20,000
g 300,000
01 XXSHA=2EX 300,000 280,000 20,000
OZ MO LIAAS (10 A) 300,000
g 300,000
HSEHIISHEE (=1) 360,000 468,720 A 108,720
J| 300,000
= 60,000
403 XXM SK201H 360,000 468,000 108,000
J| 300,000




SN BSHEIA
M oforptz U 5
CHol: ClOLMEN) A U 5

SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
403 XXM SKE0lH T 60,000
01 XXESHA2EE 360,000 468,000 108,000
OMNLHIISHEBAS (6 A) 360,000
J| 300,000
o= 60,000
oHaEtd A X & 161,500 241,717 N80,217
202 O4H| 2,500 2,520 N 20
01 =2WAbI 2,500 2,520 A20
Oodliet & =M MMy I $XE8H 2,500
403 XXISHHSA20|H 159,000 239,000 A 80,000
01 XXESHAEEX 159,000 239,000 /80,000
OdlotMy D] & SELRSAFG KA 135,000
OLRELALMAY X 24,000
AANEHESH=1) 130,000 0 130,000
i 130,000
403 XNXESHHSA=20IM 130,000 0 130,000
= 130,000
01 XXESHA2EX 130,000 0 130,000
OYAMHHHS 130,000
rag 130,000
o2z & SRIIBEILH (sl LA /oHYLA - HE) 3,854,543 2,727,018 1,127,525
= 2,012,000
g 250,000
= 1,592,543
HYA S Y & 2t 17,416 0 17,416
2L HAMESHAAEOG 29 17,416 0 17,416
201 B2 IH| 11,000 0 11,000
03 #AI2HHI 11,000 0 11,000
OLACHLAES MeIBols 29 1,000
202 o4l 6,416 0 6,416
01 Z2UWdH| 6,416 0 6,416
OHYMELMY BHE ARET 6,416
ot - Yo el A= 2,826,390 2,699,937 126,453




SN HSHEA
A YT U SRINVEL(SYHYSA/HLLL - O E)
o9l GHYRF - YK oTet 2E CEEED
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ

sorza - YN olme s = 2,012,000
= 250,000
= 564,390

ONEMEZZ0IZ ZT4(2D) 317,500 363, 100 45,600
2 250,000
& 67,500

403 XSS XHZO0IH 317,500 362,500 45,000
2 250,000
= 67,500

01 XXCSH=SE 317,500 362,500 245,000
ONZHEBBOISES 317,500
2 250,000
= 67,500

HE2H EHIY(2D) 2,000,000 2,008,317 £3,317
= 2,000,000

403 THXISHHSKHZO0IF 2,000,000 2,000,000 0
= 2,000,000

01 XXCSHGESE 2,000,000 2,000,000 0
o+ FHIY| 2,000,000
2 2,000,000

W 285 =X 94,000 315,520 ~221,520

201 Ygreg| 50,000 0 50,000

01 AFRzelt] 50,000 0 50,000
© S B OF bt Ch3H 2 24 T 01 R =t 50,000

202 01l 4,000 5,520 A1,520

01 =Loit] 4,000 5,520 A1,520
ON+SHEY U HYABHHE =X 4,000

303 ma2 10,000 10,000 0

01 Za3 10,000 10,000 0
OEF2 H4+SH FIAMH =& 10,000

308 XHXIEHHSOIH 30,000 0 30,000

01 XNXSHBLZES 30,000 0 30,000
OXZREMHS R N 30,000

OEHEOIS AREXE(2D) 12,000 18,000 6,000




SN BSHEEA
MU YD L SRIIGEL(SHHLS/H LA - OF)

CHel BB - AN QTet RS (B9l &9
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2

OIEMEOIS ANREXR(2D) = 12,000
308 RHXISHAISOIA 12,000 18,000 26,000
= 12,000
01 NXESHINBES 12,000 18,000 6,000
oO02 ARFXIA(2H2) 12,000
=2 12,000
~pE QEDIIL AL &5 300,000 0 300,000
403 XHXISHHISAHZ 0l & 300,000 0 300,000
01 MXESHMAESE 300,000 0 300,000
0% QEQILAIA =5 X2 300,000
OSX2ZANS HANUH &1 102,890 0 102,890
202 OfHl 2,890 0 2,890
01 =LHoiH 2,890 0 2,890
OMLBZATAEAIY S 2,890
403 TXIEHSHZO0IH 100,000 0 100,000
01 MXESHMASSE 100,000 0 100,000
oS NBTYNE HANYH X X 100,000
HEWR BOUSE MK =4 1,010,737 27,081 983,656
SoIER ME2oE SN 12,737 27,081 A 14,344
202 OiHl 5,237 7,081 A 1,844
01 =LHoiH 5,237 7,081 A1,844
OHBAPEO U HIHH 5,237
308 RHXISHHISOIA 7,500 20,000 A 12,500
01 MXCSHINBES 7,500 20,000 A 12,500
OIS0 S4 X 7,500
ZEHOIH 32 |X X 998,000 0 998,000
308 XX EHHSOIH 998,000 0 998,000
01 NXESHINBES 998,000 0 998,000
OR%ds AH0IHEE S N 998,000
YL (BSHEZA)OIEHIIEH 4,328,986 4,900,203 A571,217
olar2 oyl 4,103,148 4,671,252 1568,104
T8 A N 4,103,148 4,530,496 £427,348
101 Q124 3,828,888 4,240,136 A411,248




AN SSsHEER
M HHSIAHH(BSHEZA)(JIEH/IIEH
chl: QA2 A (ctel &
SNBSS - MEAY - BES 0l &k o4 e bz 2
01 JIE= 2,514,923 2,683,346 A 168,423
OF=r= 2,348,864
OHZH 356, 160
-3=2 6,006,660 1H 123 72,080
4= 5,918,330 *»4H x 12 284,080
OgerA 1,319,423
-5= 2,919,300 x13H x 123 455,411
-6 2,427 ,4002 15 * 12 436,932
= 2,028,500& x14H x 12 340,788
-85 1,438,200& x5 * 12 86,292
OJ1s& 673,281
-6 2,576,200 x4 F « 123 123,658
7= 2,132,700& x8H 12 204,740
-85 1,855,600& x14H «12& 311,741
-9 1,380,900 x2H x12& 33,142
oZF2=+¢ 1,992,704,000& *1/12 166,059
02 =% 473,229 621,500 A 148,271
(CRSRLESS: 285,424
Op =t 74,160
—-bi < Xt 40,0003 +x72Y 122 34,560
-JIEDIS 20,0003 165 12 39,600
OstblExs+Y 31,314
-SEM 51,4003 30 *43] 6,168
- sSEY 419,090& x15H »43] 25,146
(OFSFmtol= ) Fa= 94,560
-25E 01 &f 130,000 *34H » 12 53,040
-20~25= 0| Bt 110,000 x12H x 123 15,840
-15~20& 0| et 80,0003 x18H «12& 17,280
-10~15= 0| &t 60,000& 10H 122 7,200
-5E~10= 0 8t 50,000& x2H »12& 1,200
O ==t b= 13,680




SN HEHEHA
2 S AJH(BSHEZL)(OIEHIIE)
Sl Ol 2| (S5l &2
SN EHB . O2(B) - NRAY - BAS Ofl &k o8 e HRZ2
SETES 50, 00021 228 *122 13,200
23 40,0009 +1%+122 480
ORHZLALY 50,0002 %32 122 1,800
OUeZ2RA+Y
2,427 40021 *4 . 8%+50 * 122 69,910
os+YeLY 22,992
OJlzge+y 14,520
53 50,0002 *9% * 122 5,400
672 30,0002 %17 * 122 6,120
-8-02 20,0002 *5% * 122 1,200
SlsYR I3 30,0002 +5% » 128 1,800
OLT-ELE 6,456
1562 32,0002 42 122 1,536
1573 25,0002 102 * 122 3,000
-3158-92 20,0002 82 122 1,920
OSlAYR 4L 30,0002 %32 122 1,080
OFA+Z(SH) 38,0002 %1% +122 456
ONSHEHLY 40,0009 *1%* 122 480
ONASADREGY  7,3252x75% %25A] 24+ 122 164,813
03 FUZAH] 124,800 138,840 14,040
OZAS A 30,0009 +80% * 122 124,800
04 DEEZY 116,040 137,760 ~21,720
052 140,000% 132 122 21,840
06723 30,0002 +29% * 12 45,240
0893 10,0009 52 122 7,200
0715672 130,000 * 123 + 122 8,720
0715892 20,0002 * 162 + 122 23,040
05 FEEII 199,271 218,945 ~19,674
O EFIH| 1,992,704, 00021 +1/ 12+ 120% 199,271
06 JHHIXIRH] 332,118 365,633 £33,520
CBIS T 1,992,704, 00021 +1/ 12+200% 332,118
ARCBIEP] 68,507 74,107 5,600




AN SSsHEER
M HHSIAHH(BSHEZA)(JIEH/IIEH
chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OHSH 249,312,000 *1/12%1/30x 11 7,618
Os=H 1,992,704,0002 1/12%1/30% 11 60,889
203 SR F&H| 41,700 41,780 A80
01 JI22IYRFL8Y| 20,600 20,600 0
(OFEFS, 20,600,000& 20,600
02 FJAIHHRFEY| 6,400 6,480 A80
& &I 3 80,000 *x80Z 6,400
04 PN2ILRFLEYI 14,700 14,700 0
©1521 0|8t 250,000& «2 0t = 12& 6,000
©3021 0l ot 350,000 *10t*=12& 4,200
©31010]AH(35Y) 375,000 *10tx 12 4,500
204 Z2gAY| 232,560 248,580 A 16,020
01 HA¥SHSHAY| 24,600 24,600 0
(OF S, 650,000& x 1 =122 7,800
ons 350,000 «4H x 122 16,800
02 =22l 162,960 174,780 A 11,820
O3= 500,000& »1Z«12& 6,000
O4= 400,000& x4H 122 19,200
O5= 250,000 13+ 12& 39,000
Ob6= 155,000& 19 x12& 35,340
or= 140,000 x22H * 12 36,960
0892 105,000 *21H x12& 26,460
03 SR =Y 45,000 49,200 24,200
oele=tl 50,0003 75 128 45,000
=Xl 225,838 228,951 A3,113
Neg Jl23du(J2s2u) 126,669 140,681 A 14,012
201 Let3| 105, 366 119,861 A14,495
01 AtE2teltl 105,366 111,353 ANb5,987
ORNM2YE AtR22/H| 28,566
oY =g 76,800
202 O4Hl 21,303 17,820 3,483




AN Sl
T ZH BH K
(==l I (==}

chol: = | (et9l: &2
~ o Muo
SN B (B) - MEAY - BAS aroy 0 & 21 =
01 =Wobl 21,303 17,820 3,483
ORA2Y =W 21,303
M2 I3 (=ADIHEH) 26,850 23,649 3,201
201 Let23| 12,554 12,309 245
01 AtS2t2ldl 12,392 12,179 213
ORA2Y AtR22lHl 12,392
02 3224l 162 130 32
ORN2YE 22224 162
202 Oidl 14,296 11,340 2,956
01 =WHbI 14,296 11,340 2,956
ORM2YE 2UHHYI 14,296
Ned I3 (0HE X&) 42,680 41,576 1,104
201 LB29| 20,000 18,896 1,104
01 At®R2teldl 19,838 18,766 1,072
ORM2Y AtR2t2Hl 19,838
02 =229l 162 130 32
ORA2YE =23l 162
202 (44l 22,680 22,680 0
01 =UWodl 22,680 22,680 0
ORANM2g SUHYI 22,680
M2 I3 (o]0 ) 29,639 23,045 6,594
201 B9 13,962 14,445 A483
01 AtS2t2ldl 13,962 14,373 VAV/A R
ORA2E AtR2t2lHl 13,962
202 OiHl 12,677 8,100 4,577
01 =L 12,677 8,100 4,577
ORAM2YE 2UHYI 12,677
405 RKtaHFESHI 3,000 500 2,500
01 XL EEFHSHI 3,000 500 2,500
O (1TH) 3,000




